

STEP III, 2011 Q12 MS

12. As $G_Y(t) = G(H(t))$, $G'_Y(t) = G'(H(t)) \times H'(t)$, and as $H(1) = 1$, $H'(1) = E(X_i)$, $G'(1) = E(N)$, and $G'_Y(1) = E(Y)$, the first result follows.

Similarly, $G''_Y(t) = G''(H(t)) \times (H'(t))^2 + G'(H(t)) \times H''(t)$, and

$$\begin{aligned} \text{Var}(Y) &= G''_Y(1) + G'_Y(1) - (G'_Y(1))^2 \\ &= G''(H(1)) \times (H'(1))^2 + G'(H(1)) \times H''(1) + E(Y) - (E(Y))^2 \\ &= \left(\text{Var}(N) + (E(N))^2 - E(N) \right) \times (E(X_i))^2 + E(N) \times \left(\text{Var}(X_i) + (E(X_i))^2 - E(X_i) \right) + E(N)E(X_i) - (E(N)E(X_i))^2 \\ &= \text{Var}(N) \times (E(X_i))^2 + E(N) \times \text{Var}(X_i) \quad \text{as required.} \end{aligned}$$

A fair coin tossed until a head appears is distributed $Geo\left(\frac{1}{2}\right)$ so $G(t) = \frac{t}{2-t}$. The PGF for the number of heads when a fair coin is tossed once is $\frac{1}{2} + \frac{1}{2}t$. Thus $G_Y(t) = \frac{1+t}{3-t}$.

Using the results $E(Y) = 2 \times \frac{1}{2} = 1$, and $\text{Var}(Y) = \frac{1-\frac{1}{2}}{\left(\frac{1}{2}\right)^2} \times \left(\frac{1}{2}\right)^2 + 2 \times \frac{1}{4} = 1$.

$P(Y = r)$, being the coefficient of t^r in $G_Y(t)$, is $\frac{4}{3^{r+1}}$ for $r \geq 1$, and $\frac{1}{3}$ for $r = 0$.



NextStepMaths.com

To view mark schemes, fully worked solutions and examiner's comments, and for more details about tutoring and other services offered, go to NextStepMaths.com